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#include<stdio.h>
#include<math.h>

void solve

int n

scanf("%sd", &n

n/=2

long long ans=pow(2,n+1
printf("slld\n", 6 ans-2

int main
int t

scanf("%d", &t
t

solve
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#include <bits/stdc++.h>
using namespace std

#define maxn 1000000
#define max(a,b) a>b?a:b
int almaxn

int blmaxn

int ans[maxn

int t, n, 1, j, k
void solve

cin n k
i i n; i
int tmp
cin tmp
altmp
int cnt
int max
i i n; i
ali blcnt i
cnt k
cout R endl
cout n*k endl
n
i i k; 1
bli cout bli v
cout N
cout endl
memset(a maxn
memset (b maxn
memset (ans maxn

int main
int t; cin
t
solve

t
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#include <bits/stdc++.h>
using namespace std

void solve
int n, k
cin n
string s
cin S
sort(s.begin s.end
s[O slk-1
cout<<s|k-1 endl

cout<<s|k-1
sk s[n-1
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cout

int main

int i k: i n; i
cout<<s|i

int i i n
cout<<s|k

endl

int t;cin t

gd
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solve
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#include <bits/stdc++.h>
using namespace std

void solve
vector<int>inc
int N
cin N
int i i N; i
inc.push back(i
N-=1i

N inc.push back(N
sort(inc.begin inc.end
cout inc.size endl

int 1 i<inc.size i
cout<<inc/i]-inc|i

cout endl

int main
int t; cin t
t
solve
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